
name ________________________________

1. Conjugate the present indicative PASSIVE of the Greek verb, "loose"

1 "I am loosed"

2 "You are loosed"

3 "He is loosed"

4 "We are loosed"

5 "You (all) are loosed"

6 "They are loosed"

2. Translate the following into Greek:

1 I save

2 I throw

3 I raise up

4 I judge

3. Translate the following into English:

1 ste/llw

2 dida/skw

3 khru/ssw

4 ei/j accusative: ______________________________

5 u(po/ ablative:    ______________________________

accusative: ______________________________
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